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Run 5826 quartetwise, PosHalAccl/NSamplas

=== Laser O -—

Entrie=: 14506
Mean: 16,4417 &/- DUDDET
Sid Dhey: 0LA01E 4~ 00047

=== Lager OFF ---
Entrie=: 14911
Mean: 285990 +- 0,003
Sid Dhey: 02842 - D006
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Run 5326 quartatwize, Diffs)

=== Laser O -—

Entries: 14506
Mean: -0.E52685 < - 00043
S Dhey: 05279 4 00031

=== Laser OFF ---
Entries: 14911
Mean: 000714 +- 0.0030
Sid Dhey: 03506 - 00021

Run 5926 quartetwise, Asyms(

=== Laser ON -—
Entries: 14506
Mean: -31.853F /- 0. 7691
Sid Dev: 20,3701 &40~ L1196

=== Laser OFF ---
Entries: 14911
Mean: 00559 +~ 0.1140
Sid Dev: 13,9173 4/~ (LOS0E
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Run 5926 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-

Entrie=: 14506
Mean: 16,2602 /- 00070
Sid Dhev: 00455 & 00050

=== Lager OFF ---
Entrie=: 14911
Mean: 28975 «/- 0.0023
Sid Dev: 02825 - 00016
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Run 5928 quartetwize, Sumsl

al

=== Laser O -—-

Entries: 14506
Mean: 31,7098 &~ 0.0130
Sid Dev: 1.5607 - 00092

== Laser OFF ---
Entries: 14911
Mean: 57965 +- 0.0036
Sid Dev: 04371 & 00025
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Run 5928 quartetwise, PosHelAccd

— Lasar O —

Enlnea: 14208

Magn: 2223HMEATTE - TR 12IE
=5 Dwre: 238170 3BES &1 1ITEF 2547

— Lassar OFF —
Enbnea: 14511
Masn: 295 3014 «- J235.44T8
S Drire: 000 A6 4= SRR S14T
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Run 5926 quartetwize, Diifsd
__ — Ly O —
: Crlnia: 14508
— Main: 235483 255" « - 177118, 0028
—_ S (D TISEI50.0109 =i TEE1IE0
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: Maan: JOT2ATE] =~ 411532850
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Run 5928 quartetwise, Asymsd
— === Laser ON -—
— Entries: 14506
— Mean: -32.1894 +/- 0.1384
[ Std Dev: 16,6740 +i- 00979
— === Laser OFF ---
[ Enlries: 14911
— Mean: 00383 +- 0.0537
— Std Dev: 6.5621 +- 00380
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Run 5326 quartetwise, NegHalAccd

— Ly 0% —

Erlnea: 14208

Magn: $4ESE0E. T2 Y & A0FIE100S
2 Dwre: MUEIRERS 61 S &0 THEMEERSE

— Lussar OFF —
Erlna: 14511
Main: HEHE0 I35 «- 11 A5
S [Dire: TISCEE SIS 40 SRERTHD
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Run 5926 quartetwise, Asyms USbg!

— _ === Laser O -—
— Entries: 14506
2500 — Mean: 0.0028 +/- 0.0042
[ Sbd Dey: 05028 40 0.00%0
2000 — === Lasar OFF -=-
— Entrie=: 14911
— Mean: 00052 4~ 0.0041
1500 f— ~ Sid Dev: (L5035 +- 0.0028
1o — ] I
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Run 5926 quartetwise, Asyms DSbhg1
a0 — === Laser O -—
E Entries: 14506
700 — Mearn: -0.0002 «- 0L000T
E Sid Dey: 00856 - 0.0005
GO0 — === Laser OFF ---
— Entries: 14911
500 — Mean: -0.0002 «- 00007
— Sbd Dew: 0L0EET 40 00005
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B === Laser ON -—
000 — Eniries: 14506
— Mearn: -0.0043 & 000014
[ Sbd Dew: 01662+~ 0.0070
800 — === Laser OFF ---
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Gl — Sbd Doew: 0L1T9E +~ 00070
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Run 5926 quartetwise, Asyms USbg2

I

=== Laser O -—-

Entrie=: 14506
Mean: -0.0006 «- D002
Sid Dhev: 03470 & 00020

=== Lager OFF ---
Entrie=: 14911
Mean: -0.0009 «- D002E
Sid Dev: 03486 - 0.0020
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Run 5326 quartetwize, Asyms DShg2

ﬂﬂﬂﬂﬂm__.q.

=== Laser O -—-
Entries: 14506
Mean: 00000 +- 0.0006
Sid Dev: 0LO7ET & 00005

== Laser OFF ---
Entries: 14911
Mean: 00009 +- 0.0006
Sid Dev: 007ET & 00005
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Run 5926 quartetwise, Asyms Vert Finger

Lb

=== Laser O -—-

Entries: 14506
Mean: -0.0037 - 00015
Sid Dev: 02524 - 000714

== Laser OFF ---
Entries: 14911
Mean: 00002 +/- 0.0023
Sid Dev: 02830 - 00016




Run 5826 quartetwize, posHEI vs time Run 5826 guartetwize, negHO vs time
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Run 5826 quartetwize, diffl ve time Run 5826 guartetwize, summ vs time
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Run 5926 quaretwise, asymisub vs fime Run 5926 quartetwise, posH4 vs time
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Run 5826 quartetwize, posH4 vs time Run 5826 guartetwize, negH4 vs time
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